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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in

ENGLISH.

Candidate has to attempt FIVE questions in all.
Questions no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted

. choosing at least ONE question from each section.
1 The number of marks carried by a question/part is indicated against it.
Answers must be written in the- mediun-r, authorized in the Admission Certificate which must be
stated clearly on the cover of this Quest.;on-cumjAnswer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.
Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

stions shall be counted in sequential order. Unless struck off, attempt of a question

ted partly. Any page or portion of the page left blank in the

d even if attemp
Booklet must be clearly struck off.

Attempts of que
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The manager of a hotel based in New Delkh; reports that the mean
number of rooms rented out per night is at least 212 based on his
observation for the past several months. One of the corporate officials
feels that this number might be somewhat over-estimated. A sample of
150 nights produces a mean of 201-3 rooms and a standard deviation of
45-5 rooms. If these results suggest the manager has inflated his report,

he will be given a warning. At 5% level, what is the manager’s fate ?
[Normal distribution table is placed at the end of the booklet] 10
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(i) IEHTET i 68 AET W A G ey e T 30
A small firm intends to increase the capacity of a bottleneck operation
by adding a new machine. Two alternatives A and B, have been
identified and the associated costs and revenues have been estimated.

Annual fixed costs would be ¥ 4,00,000 for A and ¥ 3,00,000 for B.
Variable costs per unit would be ¥ 100 for A and 110 for B. Revenue

per unit would be ¥ 150.

(1) Determine each alternative’s break-even point .

(i) At what volume of output would the two alternatives yield the
same profit ? 5+5='IG;I“
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(e)

(d)

(e)
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A new softwnre which has been depigned for providing e-husiness
solutions can be mold hogh as a product and also o n service, Consider
two examples of software an product and pervice and discuss the pricing

and promotional strategy for the same, 10
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What are the differences in respect of gupply chain management
practices between a brick and mortar firm and an online firm ?
[llustrate by taking ecxamples from Walmart and Amazon.com

encompassing supply chain activities of gourcing, storage, distribution

and retailing. 10

mﬁqﬁmﬁnwfﬂmﬂmﬁmﬂfaﬁw,omt | 7% i & Y,
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The probability that a new advertising campaign will increase. u ’

0-80. The probability that the cost of developing the newadvertisins i
kept within the original budget aﬂmﬂmﬂo‘m

campaign can be
Assuming that the two events are independent, what uﬂw ks i

that the cost 18 not kept within budget or the cam

gales ?
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You are the manager of a gmall steel mill and all your inputs except
labour are fixed in the ghort-run- You BU.chct that as the input. of labour
increases, the output of gteel Will also increase. But you would like to
know more about the pature of this relationship so thfxt you can predict
the output of stee] ahio st with any level of labour input and use this
information to determine the optimal level of labour input. To achieve
this goal, you conducted an experiment in which the level of labour input
is varied for 8 working days. This is shown in the following table :

EGT-D-MGMT

mle \
Observation Number of workers T;;Sdfci?::l \
1 1 4 \
2 B 6 \
3 3 10 \
4 4 10 \
5 5 15 \
6 6 15 J
7 T 16 \
8 8 20 \
(1) Draw a scatter diagram.
(ii) Develop the predictive regression model after finding out the
values of intercept and slope.
(iii)  If the number of workers is increased up to 10, what would be the
output of steel ? | 5+10+5=20
b) Freafafes w st Rl fafw
() IR g
() TEoEd
i) Afoew BT
Write short notes on the following :
(1) Cyber Security 7
(i) Cryptography %
(iii) Ethical Hacking o s 5+5+5=15
g
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() What is the difference between Prt)t.luction and Operationg

| Management ? [Hustrate with the help of examples.

i) Service operations often face more difficulty in [?lanning than
their manufacturing counterparts. I’.IUWOVL‘I', service does have |
certain advantages that manufacturing does not have. Explain :
service planning difficulty un_d the advantages. Compare by &
taking one example from a service 0':8311.1821“0“ (e.g. hospgltal) and
another from a manufacturing organisation (e.g. automobile).

5+10=15 |
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Case Study

hine and Electronicg
XYZ Mﬂc iy
., 2016, Shekhar Sharma, Director of Supply Managep,
n ’ i g i §
Emf-ly}l,-ne and Electronics; met his company’s President g4 g o
. yyz Machi . . B
" h‘d t’s request, t0 discuss feducu.]g.r RIGT Soeta; g aoes
Presiden sy i torical position as a buyer of only domeg.

centred on the comp

products due to constraints in government contracts, that had recent]
now consider global

been removed. The company could g Sources. T,

meeting concluded with Sharma receiving authorization to explore the

cost-saving potential of global sourcing.

XYZ Machine and Electronics

XYZ Machine and Electronics is a division of a worldwide .:j
conglomerate that specializes in precision machined products ang k
aerospace electronics. While largely government and defence orienteq =

e

the company has one commercial aviation electronics division amongits =
e -

15 autonomous operating groups. Total sales for XYZ during 2015 was
approx. ¥ 15,000 crores with over & 5,000 crores being spent by supply
management departments of various groups. Supply management
function is divided among 15 autonomous divisions. Each has its own
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The Cost Reduction Objective
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~ Global Sourcing

Until 2016, XYZ had only purchased globally as part. of an offset

! countertrade requirement. The other exception was the Commercinl
- Aviation Electronics (CAE) division, which had been acquired in 2015 as
& means of diversifying XYZ's electronics markets. CAE not only had
b(.sen buying from foreign sources but also had established a factory in
Singapore to source and manufacture onc of its product lines, CAE’s

; offshore experience began before being acquired by XYZ. At first, parts
‘were purchased from Singapore and other East Asian sources. These
parts were then assembled in this country. Soon CAE began to buy
assemblies in East Asia and finally all factory operations were shifted to

their own Singapore facility.

When Shekhar contacted each of the other’s supply managers, he
was surprised to discover that each one had a collection of horror stories
of past attempts to establish global sources of supply and was unwilling
to try again. Most of these stories centred around problems of
‘communication, quality control, credibility and understanding.

Shekhar again contacted the CAE supply manager to discuss
details of the Singapore operation. Not only did the Singapore factory
build a product line, but also the Singapore supply department sourced
- components for that product line from throughout East Asia. Initial cost
- savings from first buys including engineering, test fixtures and other

start-up costs ranged from 10% to 18%. Subsequent purchases yielded
~ savings in the 25% to 40% range compared to domestic sources. Quality
and delivery problems were minimal. Following that conversation,

Shekhar wondered what he might do next.
(i) What are the problems being faced by the organisation ?
(i) What choices for starting a global sourcing programme exist ?

(i) Would XYZ benefit from an international supply management
officein Asia ? 5+10+5=20
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What are the nine pillars of Digital India ? Explain. How are these going

to help in achieving the objectives of Digital India ? Discuss. 7+8=15
MGMT 9
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(59 T9ET % 91y @rE sed af §aH )

An organisation has been receiving complaints with regard to the
work-related stress problems being faced by young employees. In order
to address this problem, the organisation has hired a professionally §
qualified counsellor who has been assigned the task of counselling the §

young recruits. It is found that the young employees’ arrival at the
counsellor’s office fits g Poisson distribution with an average of
5-2 employees everv

develop.
(1) The Counsellor my

St determine
employ

€es will arrive
Create crowding proble

the probability that four
uring any 20-minute interval, which could

m,
The counge]] |
our emploi,ezz st al?“ calculate the probability that more than
[Poissop distribus "l axrive during any 20-minute period. 5+10=1
ution tap]g i attacheq With this problem]
T
10

Scanned by CamScanner



I

' |\1i gON “i!_l_t_li‘)uu on
A ] i ——

1- af"?\

A TR T e My o
| .| 00246 00278 0-8662 503 3.5 3.8 37 38 39 40
- .| oo0es 001y o M2 oo 316 50771 00826 00881 00938 00989  0.1042
ks 0.0033 0.0040 0-0129 0'0 8  0.0385 0.0425 0.0466 0.0508  0.0551 0.0595
E 0047 0148 00169 00191 00215 00241 00269 00298
| 0| 00010 00013 g0 00085 (o0s6 00076 00089 00102 00116 00132
© 14| 00003 0.0004 0-0013 00019 0023 00028 00033
-1 o000t 00001 0005 oo , : . 0.0030 00045  0.0053
R o0 o 0.0001 008 00007 00009 00011 00013 00016  0.0019
g & 0000  gggeg 00002 00002 00003 00003  0.0004 00005  0.0006
~ 44| 00000 00000 g gggq 00009 00001 00001 00001 00001 00002 00002
._._ﬂ 00000  0.0000  0.0000  0.0000  0.0001
0 0.0W 45 46 47 48 49 5.0
. | 00679 00830 (osgy L2 00U 00101 00091 00082 00074  0.0067
2 | 04393 04323 (4254 00540 00500 00462 00427 00395 00365  0.0337
3 | 01904 01852 Q4798 01188 01125 01063  0.1005 00948 00894 ~ 0.0842
4 | 0.1951 01944 01933 04743 o0.1687  0.1631  0.1574  0.1517 0.1460  0.1404
: 04917 01898 01875  0.1843  0.1820 0.1789  0.1755
5 | 01600 01633  0.662 g4
' o | 01003 01143 01101 1687 04708 04725 04738 01747 04753  0.4755
- | 00640  0.0686 g 01237 04281 04323 01362 01398 01432  0.1462
: | 0os8 00380 e 00778 00824 00869 00914 00959 01002  0.1044
o | oos0 o0t 0393 00428 00463 00500 00537 00575 00614 00653
- 0168 00188 00209 00232 00255 00281 00307 00334 0.0363
10 | 0.0061 0.0071 00081 00002 00104 00118 00132 00147 0.0164  0.0181
11| 00023 00027 00032 00037 00043 00049 00056 00064 00073  0.0082
2| 00008 00009 00011 00014 00016 00019  0.0022 00026  0.0030  0.0034
13| 00002 0.0003 00004 00005 00006  0.0007 00008 00009  0.0011  0.0013
+4| 00001 00001 00001 00001 00002  0.0002 00003 00003  0.0004  0.0005
s | 00000 00000 00000 00000 00001 00001 00001 00001 00001  0.0002
n
% 51 5.2 5.3 54 5.5 56 57 5.8 5.9 6.0
o T ooos1 _ 0.0085  0.0050 00045 00041 00037 00033  0.0030 00027  0.0025
+ | 00311 00287 00265 00244 00225 00207 00191 00176 00162 00149
> | oo7e3  0.0746 00701 00859 00618 0.0580 00544 00509 00477 00448
s | o438 0.1203  0.1239 o185 04133 01082 01033 00985 00038 0069
b e 0-1681 0.1641  0.1600 04558 0.4515 0.1472  0.1428  0.1383 0.1339
0.1740 04728  0.4714  0.1697 04678  0.1656. 0.1632  0.1606
5| oa783 074 Do passs 0457t 04584 04 01601  0.1605  0.1606
6 | on4g0 0815 . fles  gq200 04234 042 01208 01326  0.1353  0.1377
7 | o086 0.1125 00771 00810 00849 00887 00925 00962 00998  0.1033
8 | oose2  0.0731 Qo454 00486 00519 00552 00586  0.0620 . 00654 00688
o | oosaz, SRS s ggit 00262 . D02Ee 00309 00334 00359 00386 00413
10| oo200 00220 .. 00129 00143 00157 00173 00190 00207 0.0225
11| 00093 0.0104 0.00051 0.0058 0.0065 0.0073 00032 0.0092 . 0.0102 0.0113
12| 00039  0.0045 2‘0021 00024 00028 00032 00036 00041 00046 00052
13| oors 00018 _— 1

EGT-D-MGMT

Scanned by CamScanner




v a0 R 2 g o) Wi 4

ipeis ylast 3l L

et O | q @t ® fb 3 :

- sitandd @ fafanfat gl “d:;“ q;;mﬁ N ﬁmm%
= 'mn"-,-d :.]E] arenn et 80 THE 3 I;mﬁﬁmm 40 iy
g 3 @ o g 10 A fiwell 64 @l } foro o

w b ol e b g

|
ap A w1 ol
g8 fiyal A o €112
a1 2 ofc 1 8

Q4.

(ii)

[ e ol gfed

()  What is the difference between cluster sampling and stratifieg
1 k18 the e

" .1 g 3 P
sampling ? Explain with the help of examples

(i) A manufacturer of machine tools claims that the mean amount of
time required to assemble their top-of-the-line electric saw is
80 minutes with a standard deviation of 40 minutes. Data was
collected from a random sample of 64 past purchases of this

clectric saw. What is the probability that the sample mean will be
greater than 88 minutes ? 5+10=15

[Normal distribution table is placed at the end of the booklet]

(b) graaﬂtm%ﬂawﬁam%?mmmm (3.3m.d.) i 7=

5 §.om. . datr el % v o

Ata and information ? Introduce the key
.'ng Or8anisation q) ‘:B Pl&nning (ERP) and how ERP can help

ave tg Implement i ®S0urces gpq operational planning. If you
: your g '
®clding op g, °r8anisation, what will be the key

© system 9 245 47215
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(iii)

)

(i1)

(iii)

Ty 3 ABCWW@W#W%?
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Wh)’doltems
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regard ?

What -tradt’.*-oﬁ's are involved while determining economic order
quantity for an organisation ?

Mmanaged or procured by an organisation need to be
ow does ABC analysis help the organisation in this

As part of an insurance company’s training program, participants
learn how to conduct an analysis of clients’ insurability. The goal
is to have participants achieve a time in the range of 30 to
45 minutes. Test results for three participants were : Shyam, a
mean of 38 minutes and a standard deviation of 3 minutes;
Mohan, a mean of 37 minutes and a standard deviation of
9.5 minutes and Kaushik, a mean of 37-5 minutes and a standard
n of 1-8 minutes. Which of the participants would you

deviatio

judge to be capable ? Explain. 5+5+10=20
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SECTION B

(a) Wﬁa;ﬁawumeﬁ(m.ﬁ&)*gamﬁﬁaww'm
Eﬁmmmwaﬁﬁﬁﬁﬁﬁ@%?ﬁmw&m
m.ﬁ.u.ﬁﬁtﬁw%aﬂlwséﬁiﬁﬁﬁaﬁ%ﬁmﬁmmmﬁl

Discuss the key objectives of the Public Distribution System (PDS), How
are these objectives being delivered by our existing system ? Examine

how efficient our PDS is and if it can be improved by involving private

parties, 3+344= 10

(b) mﬂ"ﬁﬂﬁﬂwﬁﬁq%ﬁﬁﬁiﬁﬁﬁﬂmmaﬁwmm%m
0 R gt et simita SRt we § |

Iustrate with examples, how do MNCs set transfer pricing to take
advantage of differential tax rates in different countries.

10
©  FERR (SRA) o gtade (Heew)

R F F R T ) R .
W%memﬁn?%[ﬁm ¥ w

your approach for turning around Aj
— nd r . y .
disinvestment ? alia without going for

3+3+4=10
(@) TR AT T F-af s &
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Discuss the various perepived risks for a company from a developed

economy planning to jpyest in a new project in a developing and

underdeveloped country, How do you propose to mitigate these porceived "

risks ?

Q6. (a) ww(m)mmmmmwmtwﬁ
7 P A9 4 o 1 R e A B d

|woft 1 ; Frearg atws
AT FhTS Al B | Cc|D]|E
fasht (3 urg ) 40 | 180 | 170 | 850 | 60
il A AR e | g | 16 | 3 8

q&

80 | 180 | 17-0 | 350 280
TR % amfor 6 fsh (T HUg H) | 7.0 | 180 | 130 | 10:0 | 20-0
4.0 | 12:0 9.0 8.0 15-0

1
| vt afg & (% § 4) 160|180 | 80 | 60 | 20

| e e, fsht w1 9% 80 | 60 | 90 | 50 | 60
[tﬁﬁ’l F1 o AN (T IS H) 23.0 | 122:0 | 84-0 | 53.0 | 78-0
| st e emie, R w1 % | 70 | 85 | 100 | 60 | 120
ST 318 i 3TY AU

, e @ Rl 1 % 00 | 10-0 | 400 | 25:0 | 50-0

Het o uidwferdt & fafm wwrlt 1 e W W@ R sk aw
) @A T G AR TR w Rem s R Red fe fofa

forr o @ B 37 dvml 8§ @ o W EmuEl Y @6 B s el @y @
Tl & @ frg W RAFR (divest) fhar Ime atk Yo w0 & w7 www €
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Eprdined

(b)

(c)

. o five Dusiness vertiear.
A conglomerate is operating in f Srticals

' . monle 1 below :
performance as given m Table 1 b
Table 1 : Performance Data

and has Nmrthd

: H e ———
3 oama | A | ’.-
Business unit — | =
¥ . | . i Q. ' - :
Sales (in ¥ crores) F,,u,._iP__;,}t-‘a ! 17-0 |
No. of competitors operating 8 |

In same vertical ondh i

80 | 180 | 170 | 350 | a3
70 | 180 | 130 | 100 20-
40 {120 | 90 | 80 | 15

Sales of market leaders
(in ¥ crores)

Industry growth rate
| (% in value)

| 16:0 1 180 | 80 | 50 | 29 |

Industry profitability, % of sales 80 | 60 | 90 | 50 | &0

Total size of the industry 23-0 | 1220 | 840 | 530 | 730
(in ¥ crores) B - :

Business unit profitability, 70 | 85 | 100 | 60 | 120
% of sales

% of sales of the business
unit from its international 0-0 | 10-0 | 40-0 | 25.0 | 50-0
operations

The company is evaluating the different divisions in its portfolio and
would like to consider (i) the BCG and (ii) GE-McKinsey framework to
decide on which of these divisions to focus its resources and also which of
the divisions to divest, giving reasons why. 10+10=20

St arfufiam, 2013 % F W@ AfwEw ¥, N wOER T, wERe
m,mmmﬁﬁﬁmwﬁMﬁ?

What are the salient features of the Companies Act, 2013 that would

promote Business Initiatives, Corporate Governance, Corporate Social
Responsibility and protect investors ? I5

I I WAIER B TEE O F Ry e R 6 e S )
m%%mw%fméﬁmqﬁwg?ﬁgﬁm%ﬁmm
ﬁ?—ﬁﬁ,ﬁ%mmm%,aﬂtmmgﬂﬁrﬁwﬁﬁ?

Discuss key considerations
do we go for JVs in busine
can be formed and what wo

of identifying a joint venture partner. Why
ss ? What are the various types of JVs that )
uld be their management challenges ? 5

16
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(a)

Global fi
rms face three possible types of foreign currency exposure
namel 3 3
) Y, Transactmn, Translation (Accounting) and Economic. What are
t e d' . z .
ifferent strategies organisations can adopt to deal with these
exposure risks ? 20

(b) TR U S T ik dard § R ww g e ol Frafi R s d
iR T A% Tam ¥ w § SO T R | TS A § T Q@
mmwﬁrﬁ%m%wﬁaﬂtmﬁmmuﬁm
g1 farrieer =t ol & Ty T i |

We have many industries and services managed and controlled by the
Government and run as Public Sector Undertakings. Discuss the
advantages and disadvantages of the government managing these

| corporations, taking examples under each category. Also give your

recommendation, giving reasons why. 15

(c) mﬁawmﬁﬁwﬁ?ww%ﬁsmﬁawﬁﬁﬁmmﬁaﬁm
mﬁmm%?mmmmﬁwﬁﬁmml

What are generic strategies ? Why can generic strategies not deliver

)=20

; above average performance ? Discuss briefly, business strategy

‘ development process. 444+7=15
;

| 3 0@ (@) TS & £ adam ofome w0 R 2 T e #§ wow s,

_ mﬁwﬁﬁaﬂmlmﬁmmﬁ.%ﬁﬁqﬁaﬁmﬂ
1 ey el at g AT T F 35 i |

e current definition of MSME sector ? Discuss the

What is th _ .
% tribution of SME sector in our economy. Mention five broad policy
con . : 2
/ ; itiatives that can help growth of SME sector in India. 5+5+5=15
s
| EGT-D-MGMT .
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(b)  SMUTYE W 6 HHeTH B TR di'i%'q“'?ﬁ“ﬂmmﬁqﬁw

WM IR HE § ggrEd a8 ? §ed Imqmﬁﬁw

foerma afv guen &8 @ E 2 |

Elucidate the concept of core competency. How does it help an
organisation to create competitive advantage ? How 4o organisationg

identify, develop and protect its core cOmpetencies ? 5+5+5=15

(c) mmwmmmﬁmmmﬁ?mmﬁﬂmﬁﬁw
2 ? o i fm F A S STENA R e A, B
Fita: AT wyfes (deiiie) & 9 A PRATR |

Why are Free Trade Agreements signed ? What are their advantages
and disadvantages ? Discuss the stages of evolution of a domestic

corporation to finally emerge as a global conglomerate. 5+5+10=20

ank
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